A. Choose the correct answer:

1. What is the sum of 2m 35cm and 1 m 40 cm
a.3m65cm b.4m75cm
c.3m75cm d.4m85cm

2. What is 5 m 80 cm minus 2 m 40 cm
a.3m30cm b.3m20cm
c.2m40cm d.4m30cm

3. Add3m55cmand 2 m65cm
a.5m20cm b.6m 10 cm
c.6m20cm d.5m90 cm

4. Subtract 1 m 80 cm from4 m 10 cm
a.2m30cm b.3m 10 cm
c.2m20cm d.2m40cm

5. What is the total of 1 m 50 cm and 3 m 75 cm
a.4m15cm b.5m25cm
c.5m15cm d.4m25cm

B. Write the Missing Terms to Complete the Sentences:
1.2m25cm+1m60cm=
2.4m10cm-2m30cm=
3.3m9%0cm+1m20cm=
4.5m00cm-2m70cm =

5.1m40cm+1m30cm=

C. Mark each sentence with a True (&) or False (X):
1.1m50cm+1m50cm=3m
2.2m60cm-1m20cm=1m30cm

3.3m+2m=5m
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4. 4m40cm-2m40cm=1m80cm

5.5m-5m=0cm

D. Figure out the answers to these questions:
1. Add 2 m 45 cm and 3 m 60 cm. Show the working clearly

2. Arope is 5 m 75 cm long. Another rope is 2 m 25 cm long. What is the total
length.

3. Astick is 4 m long. If 1 m 80 cm is cut from it, how much is left.

4. A cloth of 3 m 50 cm was used from a roll of 7 m 20 cmm. How much cloth is still
remaining.

5. Add 6 m 80 cm and 1 m 45 cm. Then subtract 2 m 10 cm from the result.

E. Challenge yourself with these questions:
1. Add 4 m 35 cm and 3 m 55 cm and find the total length.

2. A wire of 6 m 90 cm is cut into two parts. If one part is 2 m 40 cm, find the
length of the other part.

3. Find the total of 1 m 70 cm, 2 m 60 cm, and 3 m 40 cm.
4. Subtract 3 m 30 cm from 6 m 20 cm.

5. Aribbon of 8 m was used in two pieces of 3 m 25 cm and 2 m 50 cm. How
much ribbon is left.




